Sl. No site bills register	60		Date - site bills Register		ills	01/06/23		
Company Name:	DINRE	Bor	lech Site:				Nox	topol's
Name of Contractor	Rek		ande				- pe	
Nature of work			work					
Work done	From D	and the second se		-	T	o Date		
Sl. Villa/Flat/block no	o. Qty		Rate		Units	Amo	unt	Contractors bill no
1. Compound Wall-E		P	13		Sft	For	7-1+	
2. thick were asthe to	jest 6	32.50	В		374	823	23/-	
3. Plasting - East		18	16	,	v	170	048/-	
4. Al Compand west		65	16		4	200	140/-	
5. Britch work for he	1110S- 111	58	13			149	76/-	
6. Plintf Beam B	ick 138	7.50	13	5	"	180	38/-	
7. Onuity from Be	CK 38	8	13		U	40	641-	
8. Pastoning Nork	-		16		v		96/-	
9. for socurity room 10. Costing	9 33	.6	16		n	53:	16/-	
	otal:						0 and 1	
Bill required		NO	-	GST	bill requ		867/-	
Measurement & estimate sheet:	□ Requi	red		Meas	surement ate sheet	&	□ Enclos	sed
PO/WO no.		quinca		10000	VO date:		i i i i i i i i i i i i i i i i i i i	icioseu -
Remarks : Wow K	æmj	slete	J					
Approved by Project Ma	nager	Appro	wed b	v Desi	gn Team	Am	proved by	MD
Date: 1/6/29	0.	Date:			en realit	Dat		
Sign:		Sign:				Sig		

Construction division. Advice for giving credit to contractors/suppliers.

Notes: 1. This advice must be sent within 7 days of completing work. 2. This form can be used for certifying labour bills, bills for hire charges, earth work, turnkey civil contractors. 3. Wherever not applicable – fill NA. 4. Estimate and measurement sheets are not required for turnkey jobs where guideline rates are clearly given.

	SHEEL						
Company Name:	Dr.NRk Biotech Pvt Ltd				Approved by:		Sai kumar
Project:	Nextopolis				Sign:		
Work Description:	Civil work						_
Contractor Name:	Rekha pande						
Prepared By	Sai kumar						
Date:	23.05.23						
S No.	Item Head	Item Description	Quantity	Units	Rate	Amount	
-	Compound wall	East Side	539.00	SA	13.00	7007	
	brick work with Rcc beds	West Side	632.50	Sft	13.00	8223	
	plastering for	East Side	1078.00	Sft	16.00	17248	
	Compound wall	West Side	1265.00	SA	16.00	20240	
	Harvesting pits	Brick work for harvesting pits	1152.00	SA	13.00	14976	
	Plinth beam	Brick work under the plinth beam	1387.50	SA	13.00	18038	
	security Room	Brick work for security room	328.00	£	13	4264	
		Plastering work for security room	656.00	Sft	16	10496	
		ceiling	336.00	sft	16	5376	
					Total	105867	

	MEADUREMENT SHEET						Cai turner	
Company Name:	Dr.NRk Biotech Pvt Ltd				Approved by		Sal Kumar	-
Project:	Nextopolis				Sign:			
Work Description:	Civil work							
Contractor Name:	Rekha pande							
Prepared By	Sai kumar							
Date:	01-06-2023							
			V	8	c	D	E = AxBxCxD	4
S No.	Item Head	Item Description	Length	Width	Height	Nos	Quantity	Units
-	Compound wall	East Side	98	1	5.5	1	539	sft
•	brick work with Rcc beds	West Side	115	1	5.5	1	633	sft
	plastering for	East Side	86	-	5.5	2	1078	sft
	Compound wall	West Side	115	1	5.5	2	1265	sft
	Harvesting pits	Brick work for harvesting pits	16	-	S	16	1152	sft
	Plinth beam	Brick work under the plinth beam	925	-	1.5	-	1388	SA .
	security Room	Brick work for security room	41.00	1.00	4.00	2.00	328.00	ŝĥ
	Two rooms							
		Plastering work for security room	41.00	1.00	4.00	4.00	656.00	sft
		ceiling	12.00	14.00	1:00	2.00	336.00	SA I
				-				

Bill of equipment Allowance

Rekha pande Mallapur Hyderabad - 500087

Date: 01.06.2023

In favor of:	Nextopolis
Project / Site:	DR.NRK BIOTECH PVT LTD
Location:	Thurkapelly

.

Type of Toward:		
	Brief Description of work done: Towards Completion of compound wall, harvesting pits, security room brick work and plastering Total Amount = 105867/-	Rs.42346/-

Amount in words: Rs:-forty two thousand three hundred and forty six only

Sign:_____

Bill of labour charge

Janardhan Mallapur Hyderabad - 500087

Date: 01.06.2023

In favor of:	Nextopolis
Project / Site:	DR.NRK BIOTECH PVT LTD
Location:	Thurkapelly

Type of Work: Towards:	Civil work labour charges	
1. Brief De compour plasterin	scription of work done: Towards Completion of ad wall, harvesting pits, security room brick work and g nount = 105867/-	Rs.42346/-

Amount in words: Rs:-forty two thousand three hundred and forty six only

Sign:_____

Bill of Consumables Allowance

Rekha pande Mallapur Hyderabad - 500087

Date: 01.06.2023

In favor of:	Nextopolis
Project / Site:	DR.NRK BIOTECH PVT LTD
Location:	Thurkapelly

Type of Work:civil workTowards:Allowance for Consumables

S.No.	Description	Amount
1.	Brief Description of work done: Towards Completion of compound wall,harvesting pits,security room brick work and plastering Total Amount = 105867/-	Rs.21173/-

Amount in words: Rs. Twenty one thousand one hundred and seventy three only.

Sign:_____